
1. Use a ratio table to work out which would be the ‘best buy’ in each of the following:
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2. Use a ratio table to work out the cost per 100g of the following products:

Rice
250g
£1.70
c)
Pasta
500g
£1.20
b)
Cheese
400g
£2.40
a)







Light Mayonnaise
450g
£2.00
Salad Cream
600g
£2.40
Savoury Rice
120g
£0.90
e)
f)
d)









3. Which is the ‘better buy’ in each of the following:

    a) 5 litres of motor oil for £17.50 or 2 litres for £6.

    b) Packs of 4 toilet rolls for £2.40 or packs of 9 for £5.25. 

    c) 1.5 litres of still water for 61p, or 2 litres for 86p

    d) A 500ml bottle of olive oil for £3, or 750ml for £4


4. A photocopier takes 12 seconds to produce 20 copies. How long will it take
    to produce 190 copies?


5. The density of air is 1.2kg/m³. Estimate the mass of air in your classroom.


6. A large foam dice has a mass of 190g and a volume of 2744cm³. What is the
    density of foam in g/cm³?


7. A steel bar has a mass of 20Kg and a density of 8000kg/m³. What is the volume of the bar?


8. Draw ratio tables to show how you can work out:

a) 48 x 31      b) 24 x 67       c) 74 x 79       d) 99 x 99       e) 144 x 56     f) 272 x 68   



9. Draw ratio tables to show how you can work out:

a) 180 ÷ 15    b) 198 ÷ 11    c) 117 ÷ 3       d) 588 ÷ 6      e) 682 ÷ 22     f) 1176 ÷12  
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a)

d)

9)

Baked Beans
150g 42p
200g 53p

Cola

£1.50 1.25 litres
£2.00 2 litres

Ketchup
570g £1.80
910g £2.40

b)

e)

Toothpaste

75ml
100ml

£1.50
£1.80

Cereal

£2.19 500¢g
£2.68 750g

c)

Cheddar Cheese

350g £3.00
200g £2.00

Cornflakes

£1.39 250¢g
£2.58 750g
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